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 1
 1–26 , 

. 
. 

1)  Mg2+  O2– 3)  F–  Ar
2)  Na+  K+ 4)  O  S

: 

? 
.  – . 
. -

 – .

1) 3) 
2) 4) 

: 

 «  – » ?

1) SO2 2) NO 3) Cl2O 4) H2O

: 

,   HNO3?

1) P4O6 2) POCl3 3) KH2PO2 4) PCl3

: 

?

1) CaOCl2 2) NH4Cl 3) HClO4 4) KClO3

: 

1 

2 

3 

4 
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: 
) C2H4O2 ) C3H8O 
) C2H6O2 ) C7H8O 
) C3H6O2 ) C6H12O2

1) 2) 3) 4) 

: 

1) HCl, NaOH 2) Cl2, NaCl 3) N2, HNO3 4) C, Fe

: 

1) 3) (VI)
2) (III) 4) (II)

: 

?

1) HCl + HBr 3) HNO3 + H3PO4

2) H2SO4( ) + H2S 4) H2S + HI

: 

(II) (II) 

1) O2 3) H2SO4( )
2) BaSO4 4) H2SO4( )

: 

6 

7 

8 

9 

10
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 Y : 
Na2SO3

3AlCl ( - )⎯⎯⎯⎯⎯→  X 2 2H O⎯⎯⎯→  Y

1) H2S 2) O2 3) S 4) H2SO4

: 

 –

1) - -2 - -3 3) 
2) 4) 

: 

1) -1 3) 
2) -2 4) 

: 

, ?

1) -2 3) 
2) 4) 

: 

1) 
2) 
3) 
4) 

: 

11

12

13

14

15
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, 

1) CH3CH=CHCH3 3) C2H5OH
2) CH3CHO 4) CH3COOK

: 

 X : 
CH3C≡CH → X → CH3COOH

1) CH3CCl2CH3 3) CH3CH=CH2

2) C2H5OH 4) CH3C≡CAg

: 

1) SO3 2) HCl 3) NaOH 4) Al

: 

1) 3) 
2) 4) 

: 

 Fe3O4( ) + 4CO( ) ⎯→←⎯  3Fe( ) + 4CO2( ) + Q 

1) 3)  CO
2) 4) 

: 

16

17

18

19

20
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 1 
 3,4 .  –

1) K2S 2) Ba(ClO3)2 3) NH4NO3 4) Fe(NO3)3

: 

?

1) MgSO4 2) NaHCO3 3) Pb(NO3)2 4) KCl

: 

 –

1) 3) 
2) 4) 

: 

 40%-  300  8%-
?

1) 1500 2) 600 3) 60 4) 40

: 

: 
2C4H10 + 13O2 = 8CO2 + 10H2O + 5300 

 ( )  6,72  ( . .) ?

1) 397,5 2) 795 3) 1590 4) 3180

: 

 16,8  ( . .) . 

1) 27 2) 20,25 3) 13,5 4) 9 

: 

21
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 27−35 , 
. 

 27–32 

. 
. 

 ( ) , .

 ( ) 

) CnH2n–2

) CnH2n+2O2

) CnH2nO
) CnH2n-6O

1) 
2) 
3) 
4) 
5) 

:     

-
.

) Mg + HCl → MgCl2 + H2

) CuS + O2 → CuO + SO2

) FeCl2 + O2 + HCl → FeCl3 + H2O
) (NH4)2Cr2O7 → N2 + Cr2O3 + H2O

1) –2 → +4
2) –3 → 0
3) 0 → +2
4) +2 → +3
5) 0 → +4

:     

27

28
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, 
.

  
) HNO3

) Cu(NO3)2

) Na2CO3

) NaOH

1) H2

2) O2

3) Cu
4) Na
5) Cu + H2

6) N2

:     

-
.

  
) AlCl3

) Na2S
) Ca(NO3)2

) K2CO3

1) 
2) 
3) 
4) 

:     

, 
.

  
) Na
) Si
) O2

) C

1) Cu, N2, H2SO4

2) O2, Mg, KOH
3) H2, H2O, HCl
4) H2, Cu, NH3

5) Ca, HNO3, CuO

:     

29

30

31
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, 
.

  
) -1
) 
)
) 

1) KMnO4( . - )
2) AgNO3( . - )
3) H2S( - )
4) KOH( - )
5) 

:     

 33–35 , 
. 

. 

1) –
2) –
3) 
4) 
5) 
6) 

:    

1) 
2) 1,2-
3) 
4) 
5) 
6) 

:    

32

33

34
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1) 
2) 
3) 
4) 
5) 
6) 

:    

 2
 (36−40) 

.  (36, 37 . .), 
. . 

, : 
NO2 + FeCl2 + HCl = NO + … + … 

.

, (II) 
, . , 

. 
. , 

, . 
.

, 
: 

CH3CH=CH2
2

4

Br
CCl

⎯⎯⎯→  X1
KOH( . - ), .⎯⎯⎯⎯⎯⎯⎯⎯⎯→  X2

2+ +
2H O, Hg , H⎯⎯⎯⎯⎯⎯⎯→  X3

X3
2H

,  Nit
⎯⎯⎯→  X4

4 2 4KMnO ,  H SO⎯⎯⎯⎯⎯⎯⎯⎯→  X3. 

.
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 1
 1–26 , 

. 
. 

1)  F  Cl 3)  Na+  Ar
2)  Fe2+  Fe3+ 4)  K+  S2–

: 

? 
. . 
. 

 – .

1) 3) 
2) 4) 

: 

 «  − » ?

1) SF6 2) NF3 3) OF2 4) HF

: 

,   H2SO4?

1) KCrO2 3) K3[Cr(OH)6]
2) CrO2Cl2 4) CrSO4

: 

?

1) Li3N 2) (NH4)2CO3 3) N2O4 4) Ca(NO3)2

: 

1 

2 

3 

4 

5 
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: 
) C2H6O2 ) C7H8O 
) C2H4O2 ) C3H8O3
) C3H6O3 ) C6H14O2

1) 2) 3) 4) 

: 

1) N2, HNO3 3) FeO, FeSO4

2) O2, AgNO3 4) H2SO4, NaOH

: 

?

1) Al2O3 2) CO2 3) HgO 4) CaO

: 

?

1) NaOH + Zn(OH)2 3) Ca(OH)2 + KOH
2) Cu(OH)2 + Fe(OH)3 4) NH3 + Al(OH)3

: 

1) AgNO3 2) HNO3 3) NO2 4) NaNO3

: 

 Y : 
AlCl3

2Na S( - )⎯⎯⎯⎯⎯→  X 2SO⎯⎯⎯→  Y

1) Na2SO3 2) H2SO4 3) S 4) Al2(SO4)3

: 

6 

7 

8 

9 

10

11
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 –

1)  2- 3) 
2) -1 -2 4) - -3 - -3

: 

1) 3) 
2) 4) 

: 

, (II)?

1) 3) 
2) 2- -2 4) 

: 

1) 3) 
2) 4) 

: 

, 

1) C2H4 2) HCOOCH3 3) CH3CHO 4) CH3OH

: 

 X : 
CH3CH2OH → X → HOCH2CH2OH

1) CH3COOH 3) C2H2

2) ClCH2CH2Cl 4) C2H4

: 

12

13

14

15

16

17
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1) S 2) Fe3O4 3) O2 4) HNO3

: 

1) 
2) 
3) 
4) 

: 

2H6 ⎯→←⎯  C2H4 + H2 – Q 

1) 3)  H2

2) 4) 

: 

 2Al3+ + 3CO3
2– + 3H2O = 2Al(OH)3 + 3CO2

1) Al2O3  Na2CO3 3) K[Al(OH)4]  NaHCO3

2) AlCl3  CaCO3 4) Al(NO3)3  K2CO3

: 

?

1) MgCl2 2) HgCl2 3) Ca(HCO3)2 4) CuSO4

: 

C  –

1) 3) 
2) 4) 

: 

18

19

20

21

22

23
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 30%-  200 
12%-  H2SO4?

1) 500 2) 300 3) 80 4) 50

: 

: 
2C2H6 + 7O2 = 4CO2 + 6H2O + 2940 

 ( )  8,96  ( . .) ?

1) 294 2) 588 3) 1176 4) 2352

: 

 13,44 
( . .) . 

1) 16,8 2) 12,6 3) 11,2 4) 8,4 

: 

24

25

26
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 27–35 , 
. 

 27–32 

. 
. 

 ( ) , .

 ( ) 

) CnH2n

) CnH2n+2O2

) CnH2nO2

) CnH2n–5N

1) 
2) 
3) 

4) 
5) 

:     

-
.

) Cu(NO3)2 → CuO + NO2 + O2

) Fe2O3 + C → Fe + CO2

) Zn + HNO3 → Zn(NO3)2 + NH4NO3 + H2O
) KClO3 → KCl + O2

1) 0 → –2
2) +3 → 0
3) +5 → –1
4) +5 → –3
5) +5 → +4

:     

27

28
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, 
.

  
) CaCl2

) AgNO3

) Ba(OH)2

) CuSO4

1) H2

2) O2

3) Cl2

4) SO2

5) Cu
6) NO2

:     

.

  
) NaI
) ZnSO4

) NH4NO3

) K3PO4

1) 
2) 
3) 
4) 

:     

, 
.

  
) Ca
) S
) O2

) H2

1) Fe, H2SO4, Cl2

2) Na, Cl2, CuO
3) HCl, H3PO4, Cu
4) H2O, HCl, Br2

5) Fe, P, CH4

:     

29

30

31
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, 
.

  
)
) 
)
) -3

1) Br2( . - )
2) AgNO3( . - )
3) Cu(OH)2

4) KOH( - )
5) HCl( - )

:     

 33–35 , 
. 

. 

1) –
2) –
3) 
4) 
5) 
6) 

:    

1) 2- -1
2) 
3) 2-
4) 
5) 
6) 

:    

32

33

34
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1) 
2) 
3) (II)
4) 
5) 
6) 

:    

 2
 (36–40) 

.  (36, 37 . .), 
. . 

, : 
KClO4 + … = KCl + I2 + … 

.

. 
, 

, . 
(III) 

. 
. 

.

, 
: 

C2H4
2Cl⎯⎯⎯→  X1

KCN( .)⎯⎯⎯⎯⎯⎯→  X2
2H O( .),HCl⎯⎯⎯⎯⎯⎯⎯→  X3  

X3
KOH( .), .⎯⎯⎯⎯⎯⎯⎯⎯→  X4

KOH( .), .,t⎯⎯⎯⎯⎯⎯⎯⎯→  X5( ) 

.

35

36

37

38
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147  10 %- . 
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27 5413 
28 3142 
29 1311 
30 3414 
31 3245 
32 1142 
33 246 
34 234 
35 124 
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29 3222 
30 1334 
31 4152 
32 2351 
33 245 
34 356 
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   ,   : 
NO2 + FeCl2 + HCl = NO + … + … 

   . 

 

 

 
 

 : 

1)   : 
 1 | N+4 + 2e  N+2 
 2 | Fe+2 – e  Fe+3 
2)    : 

 – NO2 (N+4),  – FeCl2 (Fe+2). 
3)   ,     
 : 

NO2 + 2FeCl2 + 2HCl = NO + 2FeCl3 + H2O 
 

       
(    ,    

) 
   ,      3 

         2 
       1 

     0 
 3 

 
 

 
 
 

 
 

,     (II)    
,    .    ,    

   .      
 .       , 

     ,    . 
    . 

 

 

 
 

 : 
 4  : 

1) FeS + H2SO4 = FeSO4 + H2S  
2) H2S + Pb(NO3)2 = PbS  + 2HNO3 
3) 2PbS + 3O2 = 2PbO + 2SO2  
(  PbO   Pb3O4) 
4) SO2 + 2H2S = 3S  + 2H2O 

36 
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(    ,    
) 

     4 
     3 
     2 
     1 

    0 
 4 

 
 

 
 
 

 
 

  ,      
 : 

CH3CH=CH2 2

4

Br
CCl

 X1 KOH( . - ), .  X2 
2+ +

2H O, Hg , H  X3 

X3 2H
,  Nit

 X4 4 2 4KMnO ,  H SO  X3. 

      . 

 

 

 
 

 : 
   ,   : 

1) CH3CH=CH2 + Br2  CH3CH(Br)CH2Br 
2) CH3CH(Br)CH2Br + 2KOH( . - )  CH3C CH + 2KBr + 2H2O 

3) CH3C CH + H2O 
2+ +Hg , H  CH3C(O)CH3 

4) CH3C(O)CH3 + H2 
Ni, t  CH3CH(OH)CH3 

5) 5CH3CH(OH)CH3 + 2KMnO4 + 3H2SO4  5CH3C(O)CH3 + K2SO4 + 2MnSO4 + 
+ 8H2O 
 

       
(    ,    

) 
 , ,     5 

     4 
     3 
     2 
     1 

    0 
 5 
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        .   
       (II)   

  8,0 ,      120  12,6%-  
 .       . 

 

 

 
 

 : 
1)   : 
H2 + CuO = Cu + H2O 
2NH3 + 3CuO = N2 + 3Cu + 3H2O 
NH3 + HNO3 = NH4NO3 
2)    : 

(HNO3) = 120 0,126 / 63 = 0,24 . 
(NH3) = 0,24 . 

3)    : 
8,0 = m(CuO) – m(Cu) = m(O) 

(O) = 8,0 / 16 = 0,5  = (CuO) 
1(CuO) = 3/2 (NH3) = 0,36 . 
2(CuO) = 0,5 – 0,36 = 0,14 . 
(H2) = 2(CuO) = 0,14 . 

4)      : 
(H2) = 0,14 / (0,14+0,24)  100% = 37%, 
(NH3) = 100% – 37% = 63% 

 
       

(    ,    
) 

   ,     
 

4 

          3 
          2 
          1 

     0 
  4 

.  ,           
 ( ,   ),     ,   

     1 . 
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 26,88  ( . .)    13,5  . ,   

      
  ( -1,2- ) .  -

    ,   . 

 

 
 
 

 :  
1)      : 
CnH2n–6 + (3n–3)/2 O2  nCO2 + (n–3) H2O 
(   O2  ) 
 

2)       ,   
 : 

(CO2) = 26,88 / 22,4 = 1,2  
(H2O) = 13,5 / 18 = 0,75  
(CO2) / (H2O) = 1,2 / 0,75 = n / (n–3) 

n = 8 
  – C8H10. 

 

3)      ,   
     -    . 

,         -
.    –    .  

 – -  (1,2- ): 

 
4)   : 

(C8H10) = (CO2) / 8 = 0,15  
m(C8H10) = 0,15 * 106 = 15,9 . 
 

       
(    ,    

) 
   ,      4 

       3 
       2 
       1 

     0 
 4 

40 
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   ,   : 
KClO4 + … = KCl + I2 + … 

   . 

 

 

 
 

 : 
1)   : 
 1 | Cl+7 + 8e  Cl–1 
 4 | 2I– – 2e  I2 
2)    : 

 – KClO4 (Cl+7),  – HI (I–1). 
3)   ,    : 

KClO4 + 8HI = KCl + 4I2 + 4H2O 
 

       
(    ,    

) 
   ,     3 

         2 
       1 

     0 
 3 

 
 

 
 
 

 
 

         .  
     ,     

 ,     .   
      (III)    

   .        
   .     

. 

 

 

 
 

 : 
 4  : 

1) 3NaNO3 + 8Al + 5KOH + 18H2O = 8Na[Al(OH)4] + 3NH3  
2) 2NaNO3 = 2NaNO2 + O2 
3) 4NH3 + 7O2 = 4NO2 + 6H2O   (Cr2O3 – ) 

 NH3         NO,   NO2. 
4) 2NO2 + 2NaOH = NaNO2 + NaNO3 + H2O 
 
 
 

36 
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(    ,    
) 

     4 
     3 
     2 
     1 

    0 
 4 

 
 

 
 
 

 
 

  ,      
 : 

C2H4 2Cl  X1 KCN( .)  X2 2H O( .),HCl  X3  

X3 KOH( .), .  X4 KOH( .), .,t  X5( ) 

      . 

 

 

 
 

 : 
 5  ,  : 

1) C2H4 + Cl2  ClCH2CH2Cl 
2) ClCH2CH2Cl + 2KCN  NC–CH2CH2–CN + 2KCl 
3) NC–CH2CH2–CN + 4H2O + 2HCl  HOOC–CH2CH2–COOH + 2NH4Cl 
4) HOOC–CH2CH2–COOH + 2KOH( .)  KOOC–CH2CH2–COOK + 2H2O 
5) KOOC–CH2CH2–COOK + 2KOH t  C2H6  + 2K2CO3 

       
(    ,    

) 
 , ,     5 

     4 
     3 
     2 
     1 

    0 
 5 
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         .  
        (II)  

   8,8 ,       
147  10 %-   .       

. 

 

 

 
 

 : 
1)   : 
CO + CuO = Cu + CO2 
2NH3 + 3CuO = N2 + 3Cu + 3H2O 
2NH3 + H2SO4 = (NH4)2SO4 
2)    : 

(H2SO4) = 147 0,100 / 98 = 0,15 . 
(NH3) = 2 (H2SO4) = 0,30 . 

3)     : 
12,0 = m(CuO) – m(Cu) = m(O) 

(O) = 8,8 / 16 = 0,55  = (CuO) 
1(CuO) = 3/2 (NH3) = 0,45 . 
2(CuO) = 0,55 – 0,45 = 0,10 . 
(CO) = 2(CuO) = 0,10 . 

4)      : 
(CO) = 0,10 / (0,10+0,30)  100% = 25%, 
(NH3) = 100% – 25% = 75% 

 
       

(    ,    
) 

   ,     
 

4 

          3 
          2 
          1 

     0 
  4 

.  ,           
 ( ,   ),     ,   

     1 . 
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20,16  ( . .)    13,5  . ,   

    ,     
     .  -

    ,   . 

 

 

 
 

 : 
1)      : 
CnH2n–2 + (3n–1)/2 O2  nCO2 + (n–1) H2O 
(   O2  ) 
 

2)       ,   
 : 

(CO2) = 20,16 / 22,4 = 0,9  
(H2O) = 13,5 / 18 = 0,75  
(CO2) / (H2O) = 0,9 / 0,75 = n / (n–1) 

n = 6 
  – C6H10. 

 

3)        , 
      .   

        – 4- -2: 

 
4)   : 

(C6H10) = (CO2) / 6 = 0,15  
m(C6H10) = 0,15 * 82 = 12,3 . 
 

       
(    ,    

) 
   ,      4 

     3 
     2 
     1 

     0 
 4 

40 
 




